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01:615:201INTRO	
  TO	
  LING	
  THEORY	
  
Assignment	
  #	
  	
  
Due	
  10/10	
  before	
  class	
  
______________________________________________________________________ 
Instructions:  
- No	
  email	
  submission.	
   
- Read	
  the	
  questions	
  carefully.	
  Make	
  sure	
  to	
  make	
  your	
  answers	
  legible.	
  They	
  can	
  be	
  handwritten	
  or	
  
typed.	
  The	
  more	
  you	
  motivate	
  your	
  answer,	
  the	
  more	
  likely	
  you	
  are	
  to	
  receive	
  credit.	
  Make	
  sure	
  any	
  
corrections	
  are	
  clear	
  and	
  easy	
  to	
  read. 
- You may discuss the assignment and collaborate with fellow students in study groups, but your work has 
to be written up individually.  
- If applicable, you need to provide the list of collaborators in your study group: 
 
 
 
Submission of this homework constitutes signing the following Pledge:	
  
On	
  my	
  honor,	
  I	
  have	
  neither	
  received	
  nor	
  given	
  any	
  unauthorized	
  assistance	
  on	
  this	
  assignment. 	
  
________________________________________________________________________ 
 
 
Question 1.  
Identify	
  the	
  lexical	
  or	
  phrasal	
  category	
  of	
  the	
  underlined	
  expression	
  in	
  each	
  of	
  the	
  
following	
  sentences. 
 
a)	
  Jogging	
  is	
  a	
  good	
  form	
  of	
  exercise.	
  
b) Norvin	
  is	
  a	
  very	
  clever	
  linguist.	
  
c)	
  Knute	
  frantically	
  tried	
  to	
  hide	
  the	
  peaches.	
  
d)	
  John	
  knew	
  that	
  Mary	
  is	
  absent.	
  
	
  
	
  
Question 2.  
Determine	
  whether	
  the	
  underlined	
  string	
  of	
  words	
  in	
  the	
  following	
  sentences	
  is	
  a 
constituent	
  or	
  not by	
  providing	
  at	
  least	
  one	
  diagnostic	
  for	
  constituency, 
	
  
a)	
  Phoebe	
  will	
  make	
  pancakes	
  this	
  weekend.	
  
b)	
  The	
  cat	
  hid	
  under	
  the	
  table.	
  
	
  
Question 3.  
Draw	
  a tree	
  structure	
  diagram	
  that corresponds	
  to	
  each	
  interpretation	
  of	
  the	
  
following	
  sentence:	
  
	
  
	
  	
  	
  	
  	
  Jane	
  will	
  see	
  the	
  cow	
  in	
  the	
  park. 
	
  	
  	
  	
   
Interpretation	
  #1:	
  Jane	
  will	
  see	
  the	
  cow	
  that's	
  in	
  the	
  park	
  (Jane	
  herself	
  is	
  not	
  in	
  the	
  
park)	
  
Interpretation	
  #2:	
  The	
  event	
  of	
  Jane	
  seeing	
  the	
  cow	
  happens	
  in	
  the	
  park	
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Question 4. 
a. Provide	
  a	
  tree	
  structure	
  diagram	
  of	
  the	
  d-­‐structure	
  tree	
  of	
  the	
  sentence	
  in	
  (1).	
  	
  
	
  
	
  	
  	
  1. Who	
  will	
  kiss	
  John? 
 
b. Using your d-structure tree diagram list and show all the	
  transformational	
  rules	
  that 
need	
  to	
  be	
  applied	
  to	
  your	
  d-­‐structure	
  in order to	
  obtain the surface form in 	
  (1). 
 
	
  


